Total No. of Printed Pages—16
SSEMTDCCHM G 1 (N/O)

2019
( November )
CHEMISTRY
( General )
Course : 301
( Organic Chemistry )

The figures in the margin indicate full marks
for the questions
( New Course )

Full Marks : 48
Pass Marks : 14

Time : 2 hours
1. oo MARRY W% Ser AR e . 1x5=5
Choose the correct answer from the

following :

(a) <RERFFR ITATFIT DI B0 77 @I

Acetylene on polymerization produces
the compound

(i) =%¥H'XFA [ cyclohexane
(i) @R+ / benzene
(iii) 52 / toluene
(iv) &’4% / propyne
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(2)

(b) o= fim RFNGE I e R
&=

The reagent for the following conversion
is

B
"N"\p, —> H—C=C—H

(i) “=F'ZFE KOH/alcoholic KOH

(i) <F'TFe KOHT =S NaNH,/
alcoholic KOH followed by NaNH,

(i) A KOH/aqueous KOH
(iv) Zn/CH,; — COOH

(c) TR RO 7RI 4TS I QO (R
Williamson’s synthesis is used to prepare
(i) 9=’ / alcohol
(ii) 3R / ether
(iii) R’ / ketone
(iv) SEf2ZT / aldehyde

(d) O eI G Ofkew @ve Ritem IR
TRE'TE Boom w9 2

Tl.'le amine which will not liberate
nitrogen on reaction with nitrous acid is

fi) QWQW / ethylamine

(i) SRR / trimethylamine

(i) LRI 9% / isopropyl amine
(iv) - iz t-butyl amine
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(3)

(e) TFTSe-TIws oA RFFAGR @b SR
|

Friedel-Crafts alkylation reaction is an
example of

() TRy R afmem Rf$T / electrophilic

substitution reaction
(i) PRI RfE&T / elimination reaction
(iii) TR afemem Ridan / nucleophilic

substitution reaction

(iv) w@fdcese Rf& / hydrolysis reaction

UNIT—I

2. (a) R w1 fom—
What happens when—
(i) &’9%F Pd/BaS0,3 &I &R W,
propyne is reduced with Pd/BaSOy,;
(i) 2% 3'AXGTF Go19 2 KOH I (10 66

IR | 1x2=2
ethyl bromide is heated with alcoholic
KOH.

(b) o= i Rfemcon fFmRiE for 2

Write down the mechanism of the
following reaction :

Br
|
CH3z;—CH=CHy+HBr ——> CH3—CH—CHj;
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(c) oo fuiam RSt w1 (R weem 4o1) = 2x2=4
Convert the following (any two) :
(i) 2RI o[ 3R AR
Ethylene to ethylene glycol
(f) 1,2-SRIIIITT [T GRGiReH
1,2-dibromoethane to acetylene
(i) 2R 1 GRS

Propyne to acetone

(d) ==1e e R sopf 1 (R e Fofa) - ,
1x3=

Complete the following reactions (any
three) :

s
() CHy—0—CH,—cH, SonC: HpSO,
A
OH
(#) CHz—CH;—1+NaOH(aq) ——» 7

?

(iii) H—CEC—H+NaNH2 —_—>?
Br Br

. [
( lU) CH3—?—?—CH3 +2Zn AIC\OAhOL) ?
Br Br

UNIT—I1

3. (o) CFRR =0 Al R fraRe Bl 2
Discuss the mech

- anism of nijtration
reaction of benzene
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(5)

(b) e TARA @es e FRar? 1x2=2

How can you convert the following?

(i) FeR o/ @R
Phenol to benzene
(i) @R o[ R

Benzene to toluene

(c) & 7 @ @R 6 H,80,7 Tiffes
25 °C Txrore Tey 9 | ? 1

What happens when benzene is heated
with conc. HySO,4 at 25 °C?

UNIT—III

4. (o) AT TrPR Syl Rigar fFmRiy e
I : 2

Discuss the mechanism of Sy1 reaction
with suitable example.

() T IR dfemem R
CRAS  EIRE (TN HGTE G
cERTele o1 @R 2
Why is allyl halide more reactive than

alkyl halide towards nucleophilic
substitution reaction? Explain.
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(c) oo faaR “Reda 301 (R e fofor) -
2x3=6
Convert the following (any three) :

- fi) X ISR [T AT RS
Ethyl bromide to propanoic acid

(i) EIRTGRGT AN F'IXCT /1 '3 @R

Benzenediazonium chloride to
chlorobenzene

(iii) RS AR *[1 SRR

Iodobenzene to diphenyl

(iv) 2T FIRTI [T ARG R

Ethyl chloride to nitroethane

(d) 2RI SREIRTF (T RS et g
-1 AR A 1

Ethyl iodide becomes violet on standing
in presence of light. Explain.

UNIT—IV

5. (a) AR R s s @@te ome
FRar? 2

How can glycerol be prepared by
saponification reaction?
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() R €1 @fsa—
What happens when—

(i) 3°-FR'TF TR [RFRF T Risen
R,
3°-alcohol is treated with Lucas
reagent;

(i) R=e® oM HNO,3 =iore R ke |
1+1=2
phenol is treated with conc. HNO4.

(c) =S fia RiTIRR Boge SaraerR I <+
(R e 591) : 2x2=4

Explain the following reactions with the
help of suitable examples (any two) :

(i) @ER-bizewa RfEw

Reimer-Tiemann reaction

(i) BoA-ISem R

Schotten-Baumann reaction

(i) Prea-fareem f[fgmn

Pinacol-pinacolone reaction
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(8)

(d) e fm RiFmER s=4d s (R @
ISEE 1x3=3

Complete the following reactions (any
three) :

Cl

i 673K
4
() +NaOH (aq.) W ?

. LiAIH
(i) CH;—COOH——5 7

OH

(iti) +Br, =S4y 5

. H
(iv) CH;—CH,—NH, HNO,, ?

UNIT—V

6. (q) IRAAT Rewg 7/ AR 9w @i
foare a1 ? WA ANFR 7w | 2

How can you identify primary amine
with the help of carbylamine test? Give
chemical reaction.
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(b) =FTS FARR @Ee RS RA17? (R e

wol) : 1%.x2=3
How can you convert the following? (any
two) :

() aRfFR /1 EARFCRE T #'31%e

Aniline to benzenediazonium chloride

(i) RTRMZEA [ affem
Benzamide to aniline

(iii) EARTORGT AN #'IR 1 «ffem
Benzenediazonium  chloride to
aniline
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( Old Course )

Full Marks : 48
Pass Marks : 19

Time : 3 hours

1. oo MIIERRT wa Seh IR Shvs : 1x5=5
Choose the correct answer from the
following :

(a) (CH3);CCl3 IUPAC NG 29

The IUPAC name of (CH3)3CCl is

(i) SRR REHRS #°312C / tertiary-butyl
chloride

(i) 2-%'37’-2-RF-24’¢F / 2-chloro-2-
methyl-propane

(iii) ek RTbiRe F'31% / secondary
butyl chloride

(iv) SIR5’2 <1121 F°3(%S / iso-propyl chloride

(b)) @RW G RfFe wes =z
G FIRIAD! A

The electrophile involved in the nitration
reaction of benzene is

(i) SO3
(i) NOS
(iii) H2804
(iv) HNO,
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c) 2,2-SFFTLNA AN KOH I s Rfewn
IR o A @O A

2,2-dichloropropane reacts with aq. KOH
to give the compound

(i) 2,2-propanediol/2,2-g’AfES’"7
(i) propanal/d’ e

(iii) acetone/qfRp’d

(iv) propane/’tiH

(d) e AT s HNO,I Cice Tag IRea
Beom @1 QMO T

Ethylene glycol is heated with
concentrated HNO3, it forms

() SR «fXs / oxalic acid

(i) FAFH ;XS / ethylene oxide

(iti) TIRACI / dioxane

(iv) Sz A2 / diethylene glycol

(e) ©FR (IO AL FIRAGNZA *Rv1 (7428 ?

Which of the following compounds
shows carbylamine reaction?

(i) C,HgNH,

(i) (CoHs5)oNH

(iii) CH3 —NH—C,H;
(iU) (C2H5)3N
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UNIT—I

2. (a) <b & @ X A FFAFER TS GRoT
BTy @b R i $3 1 X3 faresa
4 o IS Rfesarcer form 1 2

An organic compound X on ozonolysis
gives acetone and acetaldehyde. Identify
X and write down the chemical reaction.

(b) TR RGB! T F91 ¢ TR a° wivo
ASEr forar - 1+1=2

Complete the following reaction and
write the rule involved in it :

Br
CH;—CH;—CH—CHj +ale. KOH—2—5 7

(c) ToTe TAEAR “Resq 3= Ix2=4
Convert the following :

i) 1TV 2-3 T

1-bromopropane to 2-bromopropane

(i) 2T Kbt
Ethyne to but-l-yne
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3. (a)

(b)

20P/166

(13

oo RigFam o T (R e o) -
1x3=3

Complete the following reactions (any
three) :
(i) CHz—CH=CH,+HBr —> ?

. hot alk. MNO
(i) CH=CH ——————257

Na/liq.
(ifi) CHy—CH=CH—CH, 2218 NHa,

conc. HySO,4

(zv) CH3—CH20H ———A—)?
UNIT—II
Broa-ges R fra we TR kiR
o o 1+2=3

State Friedel-Crafts reaction and explain
its mechanism.

wore fi REFAIR o <1 : 1+1=2
Complete the following reactions :
OH

(i ) Zn ;:lust 2

. red hot tube
(ll) CH=CH ——%' ?
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4. (a)

(b)

(c)

(@)

20P/166
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UNIT—III
vy R s = W TR Rl
forar - 1+2=3

Complete the following reaction and
write its mechanism :

CH3—CHy—Br+OH™ —>?

e (TG AfeFSl H@iXE (@A Q@R
T 10 2

Alkyl halide is more reactive than aryl
halide. Explain.

oo AR AReET F41 (R e wot) : 2x2=4
Convert the following (any two) :

(i) FTLRRTT o/ QRA

Chlorobenzene to benzene

(i) <FFFR /1 IV EERT

Aniline to bromobenzene

woq RIGACH o 1 : 1

Complete the following reaction :

th
CgHs— Br+Mg S ST, 5
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UNIT—IV

5. (a) A, TR AT IARAR G T T
ReRe e e Rigswm $7 ®Re
R s arm <901 3

How do primary, secondary and tertiary
alcohols react with Lucas reagent?
Explain with reactions.

() BT PF'eERE @y EEe e
AT RS TN W7 2

How is phenol prepared by cumene
hydroperoxide method?

(¢ TR REAER wiis kPR am 41
(R e 9) - 2x2=4

Explain the following reactions with the
help of suitable examples (any two) :

(i) R-ReW RfdFw

Reimer-Tiemann reaction

(i) P a-Fas Riden

Pinacol-pinacolone reaction

(iii) B'OT-I6c R

Schotten-Baumann reaction
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(d) ooe TAERRR R @ @R siseee ot : 1%

Write synthesis on any one of the
following :

() Prfle oo
Picric acid
(i) BRA [ G
An alcohol from an ester

UNIT—V

6. (a) TS AR Af&ToR TaGTo &M : 1%

Arrange the following in increasing order
of basicity :

(CH3)3N, NH3, (CHg),NH, CH; —NH,

(b) AR G R SR RS 0O
RSN 2
Prepare primary amine with the help of
Hoffmann degradation method.

() oG, PR oF SRR Tz HNO,
RiER T@ @ foaresst 3R 2 3

How can 1°-, 2°- and 3°-amines be
distinguished with the help of HNO,
acid?

%* %k %

20P—7000/166 : 3 SEM TDC CHM G 1 (N/O)



